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 هحمااادنقلا من رد 

  الجواب هو اللي باللون الأحمر: من الاسـئله
 

Funnel Introduction 
Each subsequent sentence becomes increasingly focused on the 

willtopic until the last sentence, which states very specifically what the essay  
be about 

 

  أتوقع انه مغير الصيغه ، شوي ^

 
correlative conjunctions 

but .. also  -2مدريboth .. and <  وحده منهم 

 
-------------------------------------- 

 
a cite 

source means to tell where you got the information 
-------------------------- 

information in angleThe  
address (URL) where the article can be found Web site brackets < > is the 

 
------------------ 

 
sentences A paragraph is a group of related 

 
--------------------------------------- 

 يسال عن التوبك ايش

and alertnessrequires skill  driving on freeways 
 

--------------------------- 

  controlling ideaيسأل عن الكنترولنق أي دي

several factors the rise of indie films is due to 
 

--------------------------- 

  (هديـه) هنا سؤالين ، من عنده مره جاب هذا ومره جاب عكسه يعني تعتبر 

; that is, it contains at least onecomplete sentence topic sentence is a 
subject and one verb 

 
----------------------------- 

too general 
 

Superstitions have been around forever 
 



 
------------------------------ 

The Concluding Sentence 
of the paragraph end It signals the 

 او جاب هذي في مكان ثاني بس مدري  > Concludingأتوقع هنا سؤالين جاب مره اند ومره ^
-------------------------------------- 

 
Unity <  بس من كثر ما شفته بالخيارات صرت اهوجس >مدري جاب عنها سؤال ولا لا 

--------------------------- 
 

frequently in nouns coherence is to repeat keyThe easiest way to achieve  
your paragraph 

 
-------------------------------------- 

 
, make sure that you use the same person andpronouns When you use 

number throughout your paragraph 
 

--------------------------------------- 
unless 

subordinating conjunctions 
--------------------------------------- 

 
,additional 

 + 
another 

  : adjectives اتوقع السؤال يعتبرون
 انا هنا ناسي >ما أتوقع ان سأل وش يربطون 

  none لانه لو قال وش يربطون بيكون
 

------------------------------ 
 

that rising wages were one of the primary causes of3. Era also suggested  
,)Therefore inflation ( 

the government should take action to control wages. 
  نسخ ولصق من الكتاب

 والخيارات كانت!! جابه حتى بدون فواصل هو وخشته 
 for examble-however -yet  -therefore  
 ازعجنا بها ولا جاب منها الا كذا >وحده هههههه  من مزرعه >يت وهاوايفر 

------------------------------------- 
 

Chronological 
.expressions order signals include all time 

 
----------------------------- 

He says, "I can finish it today." 
 ويبك تحولها وحط لك خيارات مسوي فيها ذيب جاب هالجمله



  جاب

 
he said that he could finish it today 
he said that he can finish it today 

  .He says "that he can finish it today" حط في خيار علمه تنصيص >

He says that he can finish it today. < وخيار بدون وهو الحل  

 ذكرت التفاصيل لاني ما حفظته المثال أساسا ، بس فاهم الموضوع وحسيت بلخبطه

----------------------------------- 

Coherence <  (امورك بتكون سليمه) الجواب اتوقع جاب عنه اكثر من سؤال بس انت فاهمه 

the sentences must hold 
tence to the next must betogether; that is, the movement from one sen 

smoot logical and 

الصياغه مختلفه ، بس هذا اللي بالكتاب وانه قصده ان الجمل تكون من جمله الى جمله ثانيه بشكل مترابط  ^

 ومتناسق

 
---------------------------------------- 
is using someone else's words or ideas as Plagiarism . 

were your ownif they  
 

------------------------------------ 
 as. subordinator Reporting verbs can be used either with or without the 

 

 المهم هذا الجواب هههه subordinator  >وش نوع الربط  asجابه كذا مدري جاب ^

 لانه معنا في محاضرتين ^

----------------------- 
 مدري جاب هذا ولا يتخيل لي ؟

 is a piece of writing several paragraphs long. essay An 
 

--------------------------------------- 
he thesis statement 

topic specific States the -1 
 

  متاكد منها ذي والثانيه ممكن specific  (وحده) مدري اتوقع هنا جاب سؤالين  ^

thesis statementhe  

  ممكن جابها من هالسؤال

The thesis statement is the most important sentence ؟ 

 

  المهم انه سؤال سهل جدا ^

------------------------------------------ 
 he body paragraphs 
and prove your points topic They are the place to develop your 

 مدري الأخير موجود ولا لا  > subtopics + topic + ideasخيارات وكانت فيه

  بووجه نظري كلها مناسبـه ؟ بس مدري ليش بيكون ملكع الدكتر

  تتعلق بالتوبك subtopicsو! ( الأفكار تتعلق في التوبك ) الاي دي 



 

، ! زي الاي ديا  بونيت >صحيح انه هنا يقول بوينت   > prove your pointsبس ممكن المخرج الوحيد

  (يثبت+ يفصل ويتوسع ) يقول بروف ، يعني ) بس   subtopicsوزي

 

  وفيه شرح

 
a develops paragraph Each consists of one or more paragraphs. body The 

, so the number of paragraphs in the body will varysubdivision of the topic 
.subtopics subdivisions orwith the number of  

  ركز باللي بالاخضر ،

 
----------------------------------- 

 
 division of ideas. In this pattern, you divide logical 

subtopics your topic into 
 

  اكثر من وحده  subtopicsاتوقع انه جاب

 
------------------------------ 

 
onlynot  outline An 

organizes your thoughts, but it also keeps you on track once you begin to 
write 
 

------------------------------ 
 

We use it to tell stories, to relate historical events, and 
 to write biographies and autobiographies. 

  يسال عن وش المناسب لـها

Chronological Order 
--------------------------------------- 

 
Chain Organization 

In this pattern, causes and effects are linked to each other in a chain. One 
 event causes a second event, which in turn causes a third event, 

 
===================================== 

paragraph often separates one major section short In block organization, a 
transition from another major section. This paragraph is called a 

. Its purpose is to conclude one section and introduce anotherparagraph 
on. You do not always have to write a transition paragraph, but it issecti 

.complex helpful when your topic is long and 
  complex جاب عن البلوك ، ومدري كيف كانت صياغته بس كان الحل

  paragraph transitionوجاء سؤال عن

  paragraph short وجوابه



------------------------------------------------- 

 

  وكآني أتذكر سؤال

from beginning to end. F idea only one main paragraph discusses one and 

  ما كان كذا الخيار

 
Always only one main idea 
usually only one main idea 

main ideas only two Always 
two main idea usuallyonly 

 

  طبعا حسب فهمي للماده اتوقع انه الحل بالاحمر

  لو تم قراءته بشكل كامل بتفهم انه أحيانا يجي الاثنين  Unityوهذا الموضوع يخص

 

  :تحديث جديد +

Including the source of the borrowed information with the reporting 
writing because it lets your reader know to your authority expression gives 

immediately that your information is from a credible sour 
اعتبره من الاسئله الصعبه وانا هنا امي داعيه لي ، لاني سبحان الله شفتها وانشغلت فيها اترجمها ما تعودت على الكلمه 

 فتخزنت بعقلي

------------------------------------------------------ 
 سؤال من بيس اوف ارت

student writing is that student writers often fail to support their ideas adequately. 
details to be thorough and convincing specific They need to use 

--------------------------------- 

  :سؤال من سعود الزهراني

 .كذا كان السؤال وما كان فيه ش ي عن الاطروحه نفسها اللي يسال عنها ماهي موجودة: تلعيقه وهذا

 
what's the problem with this thesis statement , is it 

  تو جنرل  1

 تو سبيسفك 2

 فاكت ؟ اتوقع 3

شاطح وان الدكتور نص ممكن تكون  انا اخترتها لاني قلت لو ان السؤال مو  >وهنا كلمه مدري وش يء اعرفها وما اعرفها  4

 هذي لانها ليش ما تكون الثلاث ؟ وبحثت عن الكلمه بالملزمه ما لقيتها

  انا اضفت ا لخيارات ^

____________________________ 
At sea level, water boils at 100 degrees Celsius. 

  tFacمدري انا حطيته فوق ولا لا المهم جاء وكان من الخيارات ^

 
-------------------------------------------------- 

 
واسف على التنسيق الس يء ، لاني نسختها من الملزمـه دايركت ، وحددت الاجابه باللون الأحمر فكذا لو اعدل بعيد 

  الإجابات بالتوفيق ،


